
Steiner Tree and Travelling Salesman problem

Steiner Tree problem:

Input: An undirected weighted graph G=(V, E). Each edge e has a non-negative cost c(e). A bipartition of V into a set of "required
vertices" R, and a set of "Steiner vertices" S. R     S is empty, and R U S = V. Find a minimum cost tree that contains all the vertices
in R, and a subset (possibly empty) of vertices from S. 

Travelling Salesman Problem:

Input: is a completed undirected graph G. Each edge has a on-negative cost c(e). Find a cycle that visits each vertex exactly
once (i.e. a Hamiltonian cycle) of minimum total weight. 

Metric version: Complete graph. Edge costs satisfy traingle inequality. For every u, v, w in V,) 


























